Challenge 1

6p 4 p
Eva spends 10p on a chocolate bar and

something else. What else could she have
bought? Explain how you know.

Jack spent 9p on a banana and a muffin.
How much is a muffin? Explain how you
know.

Rosie spent 6p on a chocolate bar and
something for her brother. What did she
buy for her brother? Explain how you
know.

Challenge 2

Which sentence is correct!
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A-bSisapart 2 isapartand 7 is the whole.

B-4isapart,3isapartand the whole is 8

C-4isapart,3isapart and 7 is the whole.

What mistakes have been made in the incorrect
sentences!




